H = 0 &8 AF & H Al A
20188 & =0l &F LB
FI|B|: QIS
S A =BURSDH
Y M =2XsE 78 (ge- e
A/SB| - A - HB S (SH) - MBAY - BE2 Ofl &k 2 hees HRS2
SHEARED 93,501,029 109,771,854 A 16,270,825
= 24,233,314
Xl 5,233,000
J| 2,256,571
Al 61,778,144
Ells=E P8 88,187,019 104,528, 106 216,341,087
= 23,506,790
Xl 5,233,000
Pl 341,085
Al 59, 106, 144
Ao L 2H 470,500 665,500 A 195,000
= 22,500
Al 448,000
Hed2we|d XNS(HE) 17,500 15,500 2,000
= 17,500
201 et | 16,000 14,000 2,000
= 16,000
01 AFR2telyl 12,500 12,500 0
o= XA Z 6,360,000& 6,360
= 6,360
OULBA RS MES 1,500,000& 1,500
= 1,500
(OF=1=il| 4,640,000 4,640
= 4,640
02 22224l 3,500 1,500 2,000
Oo3322 % MA 500
oNSXA £ ASUHEE = 500,000& 500
= 500
OXH & ety| 3,000
oXtz2lH E FFEUH 3,000,000& 3,000
= 3,000
202 o4l 1,500 1,500 0
= 1,500
01 2WH bl 1,500 1,500 0
O33HIsH & &0 s =223 oyl
1,500,000& 1,500
= 1,500
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SRE|: AARFIRS
£ M sEM4RSH
3y oM =2XsE 78 (e9:d8)
A/S| - 2A - W SRA(SN) - MRAIE - BAS 0l &t S e RS2
Fegazeld N (XH) 5,000 7,000 22,000
= 5,000
308 AXI A SOIA 5,000 7,000 A2,000
= 5,000
01 IXSHBLEEES 5,000 7,000 22,000
Oalzze|2d & 5,000,000 5,000
= 5,000
&= I8 £ /4 XA 448,000 483,500 235,500
308 XtXIELHI SO0 & 383,000 387,500 24,500
01 UHXSHBHEES 383,000 387,500 24,500
OosdHEsZET X& 50,000,000 50,000
O1NZE & sS4 =4 333,000,000 333,000
403 XM S =01 A 65,000 86,000 A31,000
01 XM= Ex 65,000 96,000 231,000
O2~8=3ANE &1 N& 65,000,000 65,000
ANess & sASME |4 1,138,000 1,511,000 A373,000
= 290,000
Al 848,000
25t Doy FHM K 18,000 40,000 222,000
308 XN SOIA 18,000 40,000 222,000
01 HXESHMBSEXS 18,000 40,000 222,000
O3st Hdefolar SFHMM X2 18,000,000 18,000
23t D A SR 2 ALY 80,000 50,000 30,000
308 XXM SO0IH 80,000 50,000 30,000
01 IXSHBYEE= 80,000 50,000 30,000
OZ& D= XH 80,000,000 80,000
=ES4E 84 130,000 110,000 20,000
308 AHXISHMSOIE 130,000 110,000 20,000
01 IXSHEBYELS 130,000 110,000 20,000
OsAE =22FH A& 60,000,000 60,000
OsAE =2=Za M A& 70,000,000& 70,000
=ERYES SS0HE NE 140,000 200,000 260,000
= 70,000
Al 70,000
307 g12+ol & 140,000 200,000 460,000
= 70,000
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NN EEE
SEMRSY
=Xs=s 78 (e9:28)
5] - A - FB - GI(SH) - MIRAR - BAS of are SSe RS2
307 212t01 & Al 70,000
02 UAFAAHEE 140,000 200,000 260,000
O==72%5= Ss0AE A& 140,000,000 140,000
= 70,000
Al 70,000
HHE Aldg us X (HFY) 260,000 272,000 212,000
= 130,000
Al 130,000
307 212+l & 260,000 272,000 212,000
= 130,000
Al 130,000
02 QIZHBMAHE R 260,000 272,000 212,000
OHtE Aldg us & 260,000,000& 260,000
= 130,000
Al 130,000
HHE AlME ns X (XY) 15,000 6,000 9,000
= 10,000
Al 5,000
308 AHAIHHSOIA 15,000 6,000 9,000
= 10,000
Al 5,000
01 IXEHMBH4EES 15,000 6,000 9,000
OttE AldE u=x 13 15,000,000 15,000
= 10,000
Al 5,000
S48 AHINEN NEEE X 40,000 40,000 0
= 20,000
Al 20,000
307 212H01 & 40,000 40,000 0
= 20,000
Al 20,000
02 AULBHAHEX 40,000 40,000 0
Osal8 AU uss82 N& 40,000,000 40,000
= 20,000
Al 20,000
e 12,000 13,000 21,000
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RV EEE
S=MNRED
=Xss 7 (29l &
8l - 24 - ZE - G9(3) - HRAY - BES 0l b it mE=n
201 LEH2 | 12,000 13,000 21,000
01 A2l 2,000 3,000 21,000
O=Igs &4 ¢ 2,000,000& 2,000
02 2224l 10,000 10,000 0
O=HMAgA =22 (FAO)E 2 SHl 10,000,000 10,000
DA NF 180,000 0 180,000
308 AHXIEMS0I& 180,000 0 180,000
01 UIXSHBAEES 180,000 0 180,000
Oy B& X 180,000,000& 180,000
BRHAIY EASH XIRALS 263,000 0 263,000
= 60,000
Al 203,000
308 RHXI &M S0I & 263,000 0 263,000
= 60,000
Al 203,000
10 B2 SUHUHS S LA AL I 263,000 0 263,000
O6Xtate 43 XA 263,000,000& 263,000
= 60,000
Al 203,000
=g 54 2 X XE 388,915 214,116 174,799
= 84,000
Al 304,915
sEANH 28 & XN 33,350 7,200 26,150
201 LEH2 | 6,750 4,800 1,950
01 ArR2teltl 6,750 4,800 1,950
O=s&3xd |2 HH 6,750
osdFIANM ML ¥ EEE MZE 5,000,000 5,000
oERAE R 1,750,000& 1,750
203 R F&d| 3,600 2,400 1,200
03 ANIBF=XARZ=XH| 3,600 2,400 1,200
Os3AFZ 3,600,000& 3,600
405 THaHH S| 23,000 0 23,000
01 RRAILEEHSHI 23,000 0 23,000
Os3g=: iz 23,000,000& 23,000
SH=ns N 8,100 8,100 0
= 4,500

- 751 -




SR EEE
£ AN sSUFS0
¥ o =2XsE 78 (e9:88)
A/ - 2A - HE - B(3H) - HTAY - BLS sroy Si5e RS2
SHsus 1 Al 3,600
307 212+01 A 8,100 8,100 0
= 4,500
Al 3,600
02 QIZHB MM EE 8,100 8,100 0
O=Fdsus XN 8,100,000& 8,100
= 4,500
Al 3,600
dd=sgol =3 N3 84,000 0 84,000
= 68,000
Al 16,000
308 XX EHHI SOl A 84,000 0 84,000
= 68,000
Al 16,000
01 RXEHMBYEEXZ 84,000 0 84,000
O¥dsge =3x8 Nd= 76,500,000 76,500
= 63,000
Al 13,500
Odsge Ss3x JdL29| 7,500,000& 7,500
= 5,000
Al 2,500
sgol jEsta N 155,965 158,616 A2,651
308 AtXIEHHMSOIA 155,965 158,616 A2,651
01 HXEHHMBYEXS 155,965 158,616 A2,651
Osge Tdstit= N 155,965,000 155,965
s& ZSooEsdH 28 A& 11,500 40,200 228,700
= 11,500
308 XM SOIA 11,500 40,200 228,700
= 11,500
01 IXEHMBLSEES 11,500 40,200 228,700
O=sZ ZS00I=8HH 29 11,500,000 11,500
= 11,500
CANSEEY 36,000 0 36,000
308 XM SOIA 36,000 0 36,000
01 HAHMBAdEx= 36,000 0 36,000
OZANsSXNEHE X& 36,000,000 36,000
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a
40
ra
10

B - 2A - BB O (3) - HSEANY - BAS Of & o S =2
Hesgo 84 60,000 0 60,000
308 AtXIEHHIE0I & 60,000 0 60,000
01 AXEHBAEEZ 60,000 0 60,000
O0lgd=dol =™ X 60,000,000 60,000
SHIsgsd 6,470,115 6,096, 183 373,932
= 2,701, 146
Al 3,768,969
A=Y X 1,316,018 1,357,224 A41,206
308 AtXIEHHI S0l & 1,316,018 1,357,224 A41,206
01 HXESHBAEEXZ 1,316,018 1,357,224 A41,206
OB =sHIA 117,720,000& 117,720
O eZ=s4tE03dl X2 45,298,000& 45,298
OsdilME MaE X 2 100, 000,000& 100,000
OHE=SE 22 Mg 53,000,000& 53,000
OossaE B2 K& 1,000,000,000& 1,000,000
sI12H2 XE 4,137,712 3,999,452 138,260
= 1,950,623
Al 2,187,089
308 XXM S0l & 4,137,712 3,999,452 138,260
= 1,950,623
Al 2,187,089
01 HXESHBLAEEZ 4,137,712 3,999,452 138,260
=2I1&8HlE N3 4,137,712,000& 4,137,712
= 1,950,623
Al 2,187,089
EQMEH X2 771,777 604,143 167,634
= 608,434
A 163,343
308 XM S0IA 771,777 604,143 167,634
= 608,434
Al 163,343
01 AXESHBLAEEZS AN 604, 143 167,634
OELMEH X& 771,777,000 771,777
= 608,434
Al 163,343
I =X K& 142,000 91,000 51,000
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FIE3: AABMAZSE
S A SSURED
¥ oM 2XsE P8 (e &e)
ARS| - A - HB - SH(F) - NRAY - BLS of &t S5 HIDS2
I XS = 71,000
Al 71,000
308 RtXI M SO0I™ 142,000 91,000 51,000
= 71,000
Al 71,000
01 X3 8Ex= 142,000 91,000 51,000
SIS X2 142,000,000 142,000
= 71,000
Al 71,000
GAPRIS =IOt ot&d HAHl XI& 8,608 4,614 3,994
= 7,089
Al 1,519
308 AHXI M SO0IH 8,608 4,614 3,994
= 7,089
Al 1,519
01 HXHMBLEEXS 8,608 4,614 3,994
OGAPRIESSIH &H8d A XI& 8,608,000 8,608
= 7,089
Al 1,519
FAHXIGAPHE d =24 X 78,000 39,750 38,250
= 52,000
Al 26,000
308 XXM SO0 A 78,000 39,750 38,250
= 52,000
Al 26,000
01 AXEHBLEES 78,000 39,750 38,250
OF 4Kl GAP 2tE o 24X 78,000,000& 78,000
= 52,000
Al 26,000
GAP AlEE 2 16,000 0 16,000
= 12,000
Al 4,000
403 XM S X201 & 16,000 0 16,000
= 12,000
Al 4,000
01 XM= EE 16,000 0 16,000
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A3 ASIHARS
2 A SEUNRSD
¥ M =Slsz 2 (et5- &2
SRS - B - W S(3H) - MBAY - BAS O b 0t %ﬁoﬁ HIRS2
OGAP Al 2 16,000, 000& 16,000
= 12,000
Al 4,000
s&E JWY DBt 4 2,129,404 1,881,473 247,931
= 87,614
Il 213,975
Al 1,827,815
TAZ2nsg sS4 XS 124,520 124,520 0]
403 XtXIHMSAHE01H 124,520 124,520 0
01 XS HGEES 124,520 124,520 0
OrSFAESIIH 222 124,520,000 124,520
SI|H LCHAFS (REHI) 290,000 290,000 0
308 XXM SOl 140,000 140,000 0
01 AIXSHBAEES 140,000 140,000 0
OsIHLUAIE A 2L K& 140,000,000 140,000
403 XX SHHSXHE0l A 150,000 150,000 0
01 XIS EE 150,000 150,000 0
OsIAHL UMY 150,000, 000& 150,000
HAEZRSIESIIH 2 X 39,600 0 39,600
= 26,400
Al 13,200
403 AIXISHH S KHE0| ™ 39,600 0 39,600
= 26,400
Al 13,200
01 X SHGEEE 39,600 0 39,600
OAERSIEsIIAH FLXE 39,600,000 39,600
= 26,400
Al 13,200
SIAHSEEX 2= & 68,390 98,350 229,960
= 39,080
Al 29,310
403 XX SHH S XHE0| M 68,390 938,350 229,980
= 39,080
Al 29,310
01 IXEHIE2E xR 68,390 98,350 229,960
OsJIHSsEX XA 68,390, 000& 68,390
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A3 MAAIMASE
F M SEMRSH
¥ oM =XzE 2 (e9:38)
ARS| - A - B B(SH) - MSAY - BES of &t S5 RS2
= 39,080
Al 29,310
SSHEOF HHUXZZAIE NE 38,735 156,606 A117,871
= 22,134
Al 16,601
403 XM S X201 & 38,735 156,606 A117,871
= 22,134
Al 16,601
01 XIS HMA=2ExE 38,735 156,606 A117,871
O=g=0F HUXEZZANE XY 38,735,000& 38,735
= 22,134
Al 16,601
ANEJ0EUs XA 217,834 236,629 218,795
Il 124,475
Al 93,359
403 AXISHHEX=0 A 217,834 236,629 218,795
Il 124,475
Al 93,359
01 AXNEHA=EX 217,834 236,629 218,795
OANZ20S e N3 217,834,000 217,834
pl 124,475
Al 93,359
SEXNSANEEHUS XA (L&) 36,750 32,543 4,207
7l 21,000
Al 15,750
403 HXI M S0 & 36,750 32,543 4,207
Il 21,000
Al 15,750
01 XM A2 2= 36,750 | 32,543 4,207
OSEXNSAILEUS NA(ALa) 36,750,000& 36,750
Jl 21,000
Al 15,750
s&E 78 A& 346,825 396,825 250,000
307 gi2tol ™ 30,000 30,000 0
02 IZFBAAHE X 30,000 30,000 0
O=UASEs &It X& 10,000,000 10,000
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B MAHHARS
2 A SE4SED
¥ M =2XsE 78 (es-=2)
AVS| - A - B - SA(SH) - IRAE - BES of &t S e HIDS2
Os+=wg Baol= 820 Na 20,000,008 20,000
308 KX SISO/ & 316,825 365,825 A50,000
01 RXSHBLSES 316,625 366,825 A50,000
OzsssE BRA 50,000,008 50,000
Ostg 9& 238 1d 266,825, 0008 266,825
ASHE HSREMH PHA 500,000 0 500,000
403 RtXIEHHMSXHE0|E 500,000 0 500,000
01 UXIHHAFE2EE 500,000 0 500,000
Os42 S5 NSNED 1a 500,000, 0002 500,000
EEXNS(HA) MAANLEUSAIY 28,000 0 28,000
Il 16,000
Al 12,000
403 R X1 EHRI S XHZ 0| & 28,000 0 28,000
J| 16,000
A 12,000
01 RXSHRZRE 28,000 0 28,000
=82 (HA) ALBEUS ALY 28,000,008 28,000
] 16,000
A 12,000
HEREHHTS(HS+STE) 78,750 0 78,750
] 52,500
Al 26,250
403 ItXISHH S X201 & 78,750 0 78,750
] 52,500
Al 26,250
01 RHXSHA2EE X 78,750 0 78,750
ONSREMH FE(HSLSTE) 78,750,008 78,750
I 52,500
Al 26,250
SAE BEERASS ZENH XS 360,000 0 360,000
308 R SHHSO0IE 360,000 0 360,000
01 RASUZLEES 360,000 0 360,000
Os&E8 BEAZ S5 W U 360,000,008 360,000
=0t 45 28 15,710,626 13,406,310 2,304,316
= 15,260,954
I 64,240
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RS MAAK B
S N SSNRSD
oM =XsE EER-E)
A - A - FE - A(SAH) - MFAY - BES Oll &k ;ﬁg% Hus2
St AS 2H Al 376,432
BASSHIZNENES 1,945, 100 11,945,100 0
2 11,946,100
308 XHXIEHHSOI® 11,945,100 11,945,100 0
2 11,945,100
01 HXSHBARES 11,945,100 11,945,100 0
OMASSSENEN X2 11,945,100,0008 1,945, 100
2 11,946,100
BEED HYAW N(F) 18,440 6,440 12,000
| 18,440
201 B2 A Y| 9,000 0 9,000
pl 9,000
01 ArR22IH| 9,000 0 9,000
OUNZHZE K02 MES 4,000,0002! 4,000
| 4,000
O= &l 5,000,000& 5,000
J| 5,000
202 01| 3,000 0 3,000
| 3,000
NIETET 3,000 0 3,000
OEEH2 Ot 3,000, 0002 3,000
p] 3,000
206 M 2| 6,440 6,440 0
I 6,440
01 =4l 6,440 6,440 0
OBASSSHIEH SSH A 6,440, 0002 6,440
| 6,440
BREDZ HYFH N(NE) 45,800 57,800 A12,000
| 45,800
308 XHXI EH XIS 01 & 45,800 57,800 A12,000
| 45,800
01 MXSHBSEES 45,800 57,800 212,000
OBASSEHENEH B 45,800,0008! 45,800
o] 45,800
THECUZHES 1,098,752 1,098,752 0
2 976,668
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NEEVEED
SHENRSH
=X sE 28 ECR-E
3l - 2 - FH - S(BH) - NRAY - B S ofl &b ol HRS2
THEZXMES Al 122,084
308 AFXISHHSOIA 1,098,752 1,098,752 0
= 976,668
Al 122,084
01 XS BAEXZ 1,098,752 1,098,752 0
OxXHELXNGXNZEHN BEX3 1,098,752,000& 1,098,752
= 976,668
Al 122,084
XSA=sgE 114,000 80,000 34,000
= 114,000
308 AKX EHHI SO ™ 114,000 80,000 34,000
= 114,000
01 IXSHBAZEEZ 114,000 80,000 34,000
Ot s sE 114,000,000 114,000
= 114,000
UsdAEZ 311,490 211,600 99,890
= 311,490
308 AKX EEHI SO & 311,490 211,600 99,890
= 311,490
01 XS HBIAEEZ 311,490 211,600 99,890
OgtsgAEZ 311,490,000 311,490
= 311,490
=g =a @3 XA 6,400 3,020 3,380
= 6,400
308 AHXSHHMSOIA 6,400 3,020 3,380
= 6,400
01 IXNSHBAEES 6,400 3,020 3,380
Odsgazs=a d#F3d X 6,400,000 6,400
= 6,400
dAENIE 59,244 3,598 55,646
= 39,496
Al 19,748
308 MXISHHMSOIE 59,244 3,598 55,646
= 39,496
Al 19,748
01 AIXHAHBAEEZ 59,244 3,598 55,646
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A3 AABHMAES
£ A SHEMARSH
¥ o =XsE 78 (25l ®e)
ARB| - RA - B - S (SH) - HRAY - HLS of &t Sie DS
OZ2E2dAEH 59,244,000 59,244
= 39,496
Al 19,748
=EHEEME XIS 2,111,400 0 2,111,400
= 1,876,800
Al 234,600
308 A+ XIEHXI SO0l ™ 2,111,400 0 2,111,400
= 1,876,800
Al 234,600
01 HXEHBLEES 2,111,400 0 2,111,400
O=Et=E MUXI& 2,111,400,000& 2,111,400
= 1,876,800
Al 234,600
TESMEZWMAIE O 50,631,000 69,255,600 218,624,600
TESUSZUAIFOH 50,631,000 69,255,600 A 18,624,600
401 Al2HIZL 2 THHI 50,631,000 69,255,600 A 18,624,600
01 Al&HI 47,102,000 69,240,000 222,138,000
OFESAEZMAIE OlA AMiH] 47,102,000,0002 47,102,000
02 Zell 3,500,000 0 3,500,000
OFESUESTAE Old LA 22| 8HY|
3,500,000,000& 3,500,000
03 AIE =Yl 29,000 15,600 13,400
OFESMEZMAIZ 0l AtHHI 29,000,000& 29,000
s Mol ol 5,070,000 5,300,000 A230,000
= 5,010,000
Al 60,000
i ==oH & 2,890,000 1,500,000 1,390,000
= 2,890,000
402 eI2tt=01 ™ 2,890,000 1,500,000 1,390,000
= 2,890,000
02 Pt EALEE(0IETHE) 2,890,000 1,500,000 1,380,000
OZ 37 His=IH &AL 890,000,000& 890,000
= 890,000
O2LEXF =AM S 2,000,000,000& 2,000,000
= 2,000,000
oMY LIMME=(ZE) 2,000,000 2,000,000 0
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3 A SRS
N: SEMRSD
H: =2XsE 8 (29l &)
A3 - 2A - BH - A(3) - HFRAY - HES Oil &4 %ggﬂ Hus2
2L B LTHNR S (RE) = 2,000,000
402 212X+ 0| B 2,000,000 2,000,000 0
= 2,000,000
02 IR ALY 2 (01 HTHE ) 2,000,000 2,000,000 0
ORINB2ALEH HBHA 2,000,000,000& 2,000,000
2 2,000,000
2OINLBALTHHES () 180,000 1,800,000| 1,620,000
= 120,000
Al 60,000
403 XIS SAH=01& 180,000 1,800,000 21,620,000
= 20,000
Al 60,000
01 RXIEHMA=2E X 180,000 1,800,000 A 1,620,000
OXNgZe/ZHxH HESA 180,000,000& 180, 000
2 20,000
Al 60,000
OHHE SoMAD|EH FY| 4,516,870 4,103,870 413,000
N 3,633,000
2] 62,870
Al 821,000
STIOIZAE ZAR 0124 X8 62,870 62,870 0
p] 62,870
308 XX EHH SO 62,870 62,870 0
J| 62,870
0l HXSHBARES 62,870 62,870 0
OOl B22I N (SXO0ISAENZ AL) 62,870,002 62,870
| 62,870
2 *2IAA BY X 150,000 150,000 0
308 XXM SOI® 150,000 150,000 0
01 HXSHBNSES 150,000 150,000 0
O=elAl=eclANE2E ZHIX& 150,000, 000& 150,000
SEBIEET 3,437,000 2,925,000 512,000
X 3,055,000
A 382,000
403 RtXIEMERE0IH 3,437,000 2,925,000 512,000
Xl 3,055,000
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P AABHARE
2 A sEMRSD
¥ oM =XsE 78 (EH9): &%)
AU - A - B - SA(SH) - LAY - BLS of &t S HIRS2
403 XM S=0I & Al 382,000
01 HXISHA2Ex 3,437,000 2,925,000 512,000
Oz el =clANEile+ 2,025,000,000& 2,025,000
X 1,800,000
Al 225,000
OUF&EAXE A 1,412,000,000& 1,412,000
Xl 1,255,000
Al 157,000
SAMEEANE(ARLE=Z ZML B2AH) 127,500 327,000 A199,500
X 85,000
Al 42,500
403 XM S =01 H 127,500 327,000 £199,500
X 85,000
Al 42,500
01 MRS A2 2 = 127,500 327,000 A199,500
ONSAEs=2 Z2HE 2L AL 127,500,000 127,500
X 85,000
Al 42,500
SAMSEZANL 2T sESHHSZHY]) 739,500 639,000 100,500
A 493,000
Al 246,500
403 XM S =018 739,500 639,000 100,500
X 493,000
Al 246,500
01 HRSHMA=SEx 739,500 639,000 100,500
OAEX 7 sEdSI ALY 739,500,000& 739,500
N 493,000
Al 246,500
S0E XSGR 1,661,589 2,094,054 A432,465
= 41,576
Xl 1,600,000
Al 20,013
sE2FFH |4 NE 41,354 46,569 A5,215
= 27,934
Al 13,420
308 XtXI M SO0IH 41,354 46,569 25,215
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VS MAAKFIRS
2 N =SURSD
8 H: sXsE 78 (&9 &e)
ARS| - 2 - H - SA(SH) - MPAMY - BES L i RS2
308 AXISHSOIE = 27,934
Al 13,420
01 HXEHBLEEES 41,354 46,569 25,215
Os=EHMElE AFHE At 21,600,000 21,600
= 14,400
Al 7,200
O==HE0S2gItd XN 3,554,000 3,554
= 2,734
Al 820
Os=08 AHIA K 16,200,000 16,200
= 10,800
Al 5,400
ME0otE el us X&E 1,485 1,485 0
= 1,142
Al 343
308 MtXI XM S0IH 1,485 1,485 0
= 1,142
Al 343
01 HXEHBaEES 1,485 1,485 0
OsEME0e dgds s 1,485,000 1,485
= 1,142
Al 343
HoXA H=(2stz MAIZOIE) 1,600,000 0 1,600,000
X 1,600,000
403 XM S K201 A 1,600,000 0 1,600,000
Xl 1,600,000
01 HXSHHMA2ExE 1,600,000 0 1,600,000
OMAZOIE HANSY da0Hd HE
1,600,000,000& 1,600,000
PN 1,600,000
sSESsSHgdal# 18,750 0 18,750
= 12,500
Al 6,250
308 XM SOIA 18,750 0 18,750
= 12,500
Al 6,250
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B MAAH RS
2 M =SNRSH
¥ oM =XsE P (25 52)
ARB| - A - BB SA() - MRAY - B ofl & SiSe H RS

0l RXSHBARES 18,750 0 18,750
Os=2SHELs N 18,750,0002! 18,750
3 12,500
Al 6,250

SN 2B 23 5,276,099 5,211,609 64,490
= 726,524
o] 1,915,486
Al 2,634,089

rEge 2 1,452,138 1,833,055 A380,917
= 617,304
) 206,875
Al 627,959

IISESEI2EUHMFT 210,710 215,410 24,700

201 L B2 H| 7,590 7,590 0

01 ArR22IH| 3,480 3,480 0
O%9A H4DSDH M 3,480,000 3,480

02 IZ2H| 4,110 4,110 0
owRY 2Y 4,110,0002! 4,110

206 T2 bl 11,070 11,070 0

01 HZHI 11,070 11,070 0
OSE8o%E 2| 2,970,000 2,970
CEIEETEE] 8,100,0002! 8,100

308 AHXIEHMSOIA 192,050 178,750 13,300

01 RHXSHBHEES 192,050 178,750 13,300
ONELDHTY YIS X2 50,000,000%! 50,000
OZAYUUES Al 22,000,000 22,000
OFHY L ZRUSZAX K%  82,250,0002 82,250
OB+9 +¢ 37,800, 00024 37,800

THY LAl GTAE Y NH(HF 77,915 157,782 20,133
= 97,529
Al 80,386

201 Yer2 | 53,460 40,392 13,068
= 26,730
Al 26,730

02 2Z2YH| 53,460 40,392 13,068
OSUXZSEN X8 53,460,0002! 53,460
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NEEYVEEE
S=NSED
=0 2B 23 (oe:mal)
5 - 24 - BB . S (BH) - NEAY - BAS 0l &b e HRZ2
= 26,730
Al 26,730
206 4| 124,455 117,390 7,065
= 70,799
Al 53,656
01 THZHI 124,455 117,390 7,065
ONsHEEY olLFAL 112,575,000 112,575
= 64,859
Al 47,716
OFHS HAES 3N 11,880,000 11,880
= 5,940
Al 5,940
FHE LA MHSEE P2 XA(KHE) 436,213 470,972 A34,759
= 309,775
Al 126,438
308 AtXISH SOl 436,213 470,972 234,759
= 309,775
Al 126,438
01 IIXHHBAEXZ 436,213 470,972 A34,759
OHX MIBHIOI A Mlgr=A 54,000,000& 54,000
= 36,000
Al 18,000
OF M ol g==At 181,658,000& 181,658
= 149,601
Al 32,057
OFHSE oAl HE A= 52,500,000& 52,500
= 35,000
Al 17,500
OZAY WEFA 27,720,000 27,720
= 19,404
Al 8,316
O4 B24e1d AHIHEY| 39,585,000 39,585
= 18,270
Al 21,315
OHdXAa2HEE e XN 13,500,000 13,500
= 9,000
Al 4,500
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PR3] MBS
2N SEA4RSD
¥ oM SN ZHA L (es:®2l)
AR - FA - B SA() - HEAE - BES of ot S5e HRSY
Odt=sot 282 X3 31,500,000& 31,500
= 21,000
Al 10,500
ON=MEXN A= 24,500,000 24,500
= 14,000
Al 10,500
OJ=sEdg Jradgsd 11,250,000 11,250
= 7,500
Al 3,750
SaXEEHS 213,750 213,750 0
= 180,000
Al 23,750
308 XXM SOIH 213,750 213,750 0
= 190,000
Al 23,750
01 HIXHMBYEES 213,750 213,750 0
Odxz=4d3 213,750,000 213,750
= 190,000
Al 23,750
A ¥ 2E ZAEH S N 28,000 21,000 7,000
= 20,000
Al 8,000
403 TtXISHMSK=201H 28,000 21,000 7,000
= 20,000
Al 8,000
01 XM 22 28,000 21,000 7,000
OALSXHE 28,000,000 28,000
= 20,000
Al 8,000
IISMEARIAE2R 452 el2d XN 141,000 133,000 8,000
) 84,600
Al 56,400
307 2120l & 141,000 133,000 8,000
) 84,600
Al 56,400
02 QA S AEE X 141,000 133,000 8,000
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MAZ I3
SEMARED
=o B LE (S5 59)
8 - 2A - B OA(3) - HRAY - BAS Ol &k S5 HimE=
odozs 4oy AzEX 141,000,000& 141,000
J| 84,600
Al 56,400
SsEHe 22 244,550 121,141 123,409
| 122,275
Al 122,275
307 212+01 & 244,550 121,141 123,409
I 122,275
Al 122,275
02 QIHBAAIHE R 244,550 121,141 123,409
OLHASsAY LM 29 244.,550,000& 244,550
| 122,275
Al 122,275
AE otEH 235 281,835 320,500 238,665
= 15,350
J| 150,730
Al 115,755
CEZAE 212dl X2 221,000 221,000 0
| 132,600
Al 88,400
307 212t0| & 221,000 221,000 0
J| 132,600
Al 88,400
02 QIZFHBAAIHE X 221,000 221,000 0
O=SsZ A 124l X 221,000,000& 221,000
J| 132,600
Al 88,400
SN2 £ L MEH NS (HE) 3,400 3,400 0
= 1,700
Al 1,700
206 =24l 3,400 3,400 0
= 1,700
Al 1,700
01 =4l 3,400 3,400 0
OFA2 =14l £ MEHl X2 (=F) 3,400,000 3,400
= 1,700
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RS MAAFNE
2 N s=URSD
oM =4 AW P EER-E)
ARS| - A - B - SR(SH) - MPAY - BAS ol &y S HI DS
Al 1,700
SAE #=Hl &£ M=l NS (X&) 6,000 6,000 0
= 3,000
Al 3,000
308 XM S0IE 6,000 6,000 0
= 3,000
Al 3,000
01 HXEHMBHExS2 6,000 6,000 0
Os&2 =4l ¥ WaHl K& (XY) 6,000,000 6,000
= 3,000
Al 3,000
SOSASALTAR 28 =€ 6,375 0 6,375
= 4,250
Al 2,125
308 X+XIEHH S0I ™ 6,375 0 6,375
= 4,250
Al 2,125
01 HXEHMBLExS 6,375 0 6,375
Ogusszs AMSBANR =€ 6,375,000& 6,375
= 4,250
Al 2,125
;’E&%—?ISH AT 22| Jlgt x2S X2 (542 HACCP e gl 8,800 39,600 230,800
= 6,400
Al 2,400
308 AXIEHMSOIH 8,800 39,600 230,800
= 6,400
Al 2,400
01 HRAHHMBH4EXS 8,800 39,600 430,800
O=42 HACCP ZHEE 8,800,000 8,800
= 6,400
Al 2,400
S&s0/522 N 36,260 47,500 A11,240
Il 18,130
Al 18,130
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=Y CEE
2 A SSURSD
3 M SN ZM A8 (9l 82
QRS - LA - BH - SA(SH) - HRAY - BYS 0] & o4 Sie DS
307 giztol & 36,260 47,500 211,240
Il 18,130
Al 18,130
02 ABHALER 36,260 47,500 211,240
O] olE=HK 36,260,000& 36,260
pl 18,130
Al 18,130
Sehsor 3gad & 3,205, 149 2,926,054 279,095
Il 1,557,881
Al 1,647,268
sStues 34 N 2,009,862 1,736,233 273,629
Il 1,205,917
Al 803,945
307 2I2t0I ™ 2,009, 862 1,736,233 273,629
Il 1,205,917
Al 803,945
02 LAAYALER 2,009, 862 1,736,233 273,629
Ostuneszal X 2,009,862,000& 2,009,862
Il 1,205,917
Al 803,945
IFE|NERNE & RF44E M4t 140,830 140,485 345
308 XXM SOIA 140,830 0 140,830
01 UXEHBYEES 140,830 0 140,830
OJt=elss+=d2 A& 7,740,000& 7,740
OR¥2=uwHM X& 87,600,000& 87,600
OSO0HN HAFE ALY RES 1,490,000 1,490
Osiaetz XI& 32,000,000& 32,000
OSSIIAM K& 12,000,000& 12,000
Hs0 X2 25,000 15,000 10,000
308 A XIEHMSOIA 25,000 15,000 10,000
01 MXEHHBYEES 25,000 15,000 10,000
OH=s=<20 X 25,000,000& 25,000
S4EZ e X 341,500 292,000 49,500
308 At XIHHSOIE 341,500 0 341,500
01 AXHHBLEES 341,500 0 341,500
OFarstdMeH K& 96,500,000 96,500
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A MABHAEE
£ A SEM4RSH
Hom: =M AW 28 (Shol:Hel)
RS - A - B - BA(SH) - MIRAE - BES of &t S5 HI DS
O=ge s=2x=2Hd N& 230,000,000 230,000
Omteld =L (HH-&35¢) 2= XI& 15,000,000 15,000
2sisiee 23t |4 180,000 180,000 0
308 X XIEHSO0IH 180,000 180,000 0
01 IXSHMBEEEXS 180,000 180,000 0
OstEHESHMY 180,000, 000& 180,000
r=E2R EHdls N& 220,554 61,717 158,837
Il 147,036
Al 73,518
403 TtXIELM S K20l & 220,554 61,717 158,837
) 147,036
Al 73,518
01 AXIHHMA2Ex 220,554 61,717 168,837
OJ=8x E%HlI3 X 220,554,000& 220,554
Jl 147,036
Al 73,518
AzEdd A& 2,400 23,064 220,664
206 M=l 1,200 1,200 0
01 MHZH 1,200 1,200 0
OAMzdEAZAE MEMF WE7Hl 1,200,000& 1,200
405 a3 S| 1,200 0 1,200
01 Xrat =S FH S 1,200 0 1,200
OMEZA AIZE2E dF10 PE 1,200,000& 1,200
ENzHLE SXPY XE 18,000 18,000 0
Il 18,000
308 X HHMSOIH 18,000 18,000 0
) 18,000
01 IXSHMBH4EXS 18,000 18,000 0
OXMZE SR NE 18,000,000 18,000
Il 18,000
TASHMAZ AFLITHZE X2 100,000 180,000 280,000
) 50,000
Al 50,000
308 AXIEHHMSOIA 100,000 180,000 £A80,000
D) 50,000
Al 50,000
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PIRE: AIAKISIAS
= N S=S4RSH
¥ oM =M I 2 (Etef:8d)
PRAZ| - BA - FH - HA(FA) - HEAMNY - THES Off &F 24 %505_.“ HwE2
R ERCE- 100,000 180,000 80,000
OZAZ AF2IXl MZE2%H X 100,000,0008 100,000
p] 50,000
Al 50,000
= AbAI& B 1S 79,178 29,780 49,398
p] 79,178
403 TR SHHS X201 & 79,178 29,780 49,398
| 79,178
01 UXISHKEEE 79,178 29,780 49,398
OSAAE BSOS ALY 64,178,0008! 64,178
J| 64,178
OgElta S9A4d e 15,000,000 15,000
| 15,000
= AHSHACCPZ M & 9,900 12,100 22,200
p] 7,200
Al 2,700
308 XHXIEHH SOl & 9,900 12,100 22,200
I 7,200
Al 2,700
01 HASHBLEES 9,900 12,100 22,200
OSAS HACCP 214 AP (MAEH) 9,900,000 9,900
p] 7,200
Al 2,700
SHMSOME 77,925 77,925 0
J| 50,550
Al 27,375
308 XX SHHISOI® 77,925 77,925 0
p] 50,550
Al 27,375
01 RHXESHBLEXZ 77,925 77,925 0
Ot =0 ME AL 77,925,000& 77,925
p) 50,550
Al 27,375
2235 22 336,977 132,000 204,977
= 93,870
Al 243,107
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AAE: MALFHABE
2 M S=NRSD
oM =M AW 23 (Er5): @)
A/S| - A - W - B(SH) - NRAY - BAS ofl &t S RS2
SE2s € =1 Uy 191,025 0 191,025
= 93,870
Al 97,155
308 MM S0l ™ 191,025 0 191,025
= 93,870
Al 97,155
01 HXHHMBYEXS 191,025 0 191,025
ORJIse 2l X& 101,850,000& 101,850
= 58,200
Al 43,650
OZ N0l S4st+= A 89,175,000& 89, 175
= 35,670
Al 53,505
RIS 2c 145,952 132,000 13,952
201 ¢Er2dd| 2,000 2,000 0
01 AtR22lHl 2,000 2,000 0
Oss2s 822 HH 2,000,000 2,000
308 NtXI M SOl 143,952 130,000 13,952
01 HXSHBHExS 143,952 130,000 13,952
OoRJlse &cl 143,952,000& 143,952
dE2S 3 37,91 32,139 5,772
22 (sH447SH) 37,911 32,139 5,772
A28 37,911 32,139 5,772
201 ¢Er2 ] 19,969 18,220 1,749
01 At=22| bl 17,969 17,220 749
Oget=ZH| 10,749,000 10,749
(O)=3=4:] 7,220,000 7,220
02 &S24l 2,000 1,000 1,000
OXterd ety 2,000,000& 2,000
202 014 13,142 9,719 3,423
01 =LHOBI 13,142 9,719 3,423
OJ=gd R+ =0l 13,142,000& 13,142
203 B R=2d| 4,800 4,200 600
04 EA2EYRFAH 4,800 4,200 600
ORAM2EYER=AHI 4,800,000& 4,800
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